110 1890 1880 1890 110
= I L E= I FG | | Z
@ e = == < s
N —
= G L S o 0% e VARVELL) =
ain Mi2 L=450 1
@ TIRIRd T T Al
90 {1201 90 &)
= 10 R W\ - =
= TYA=EwY (7994 Y Th=Ewh (7924 M12 L=450 =
= MI7 L=45 BS 87y T s
B8 "Efy b — =
& = ,X%
M 5 K
= 400
S 800 7/h-4wh (7998 90 12201 90
= 1 N12 L=450 =
— [, T~ —
= | B it mop {1 =
_X il — _ HinE
@ + S ——— & -
= F 1 B F 1 Pl
2890 7880 2890
8660
| #®RE 150 |
Toa-fwh (792K M1D 1=
Poi-tm 308 M12 1450 Pt ) WIE bl
e “Efy ) (220) =77
(300) 75 250/ 15
o3 DAY 3 T/
~= D10 @300
D10 @100 | - Z| o
= . D10 =
4-D10 N —+ = D10 Do % EIPMmH 3 0KN/nf
e — | = _ i ZHR R¥No. ZXENo.
- 1-D13
016, 61 27"'“' 100 400 10 D10 oY BE P REX
100 800 100 FG13 D10 @300 [ERR—ZNYT R KKS 30725
. o AR | AN | BN |NEF
F 1% % () RTHERFG2%7RY EMAN - EREOR HSDHA10059A
| EmsreN 130 | %R 1 /50 | #e&RE B4 FRMTEEXSH




